Name: T T e e TR ... Maths Class:4..... v SECTION 1

5 Marks
SYDNEY TECHNICAL HIGH SCHOOL Attempt questians 1-5
Use muitiple choice answer sheet
1, What are the solutions of 2x2 — 52— 1=0

L _ —5H17 L _—53v33
(A)x——-—r (C} r=—"

{B) 2 = ﬂ;g——ﬁ?.sﬁvly Ay x= sifi

Year 11
Mathematics

1
2. Which Inequality defines the domafn of the function f{(x) = Vx + 3?7

Preliminary Course

(A} x> -3 € x<-3
Assessment 1 :
. (8) x=-3 b} x<£-3
April, 2015
Time allowed: 70 minutes
General Instructions: Section 1  Multiple Choice : 3. What s 4.04784 correct to three significant figures?
. Questions 1-5 )
. Matrlks for each question are indicated 5 Marks (A) 4.09 (B) 4.10 (C) 4.007 [D} 4.098
on the question, . .
Section 11 Questions 6-13
« Approved calculators may be used 56 Marks

» All necessary working should be
shown

e Full marks may not be awarded for
caretess work or illegible writing

o Begin each question on a new page

e Write using black or biue pen

¢ All answers are to be in the writing
booklet provided




4, Which of the fallowing graphs represents y = l—i;?

(A) ¥ @) ¥
' o 1 * b o X
<) y4 D) ¥

-
]

\_Q = _;3 /.r

5. Which diagram shows the region in the plane defined by y = D and y < 4 — x*?

A ¥4 (8) ¥

-3 2 x

©) D) »

-2

" SECTION 2

56 Marks - |
Attempt questions 6-13
Marks are indicated next to question.

Start each question on a new page.

QUESTION 6 - (7 Marks)

{a) Evaluate correct to 3 decimal places

1
(Lo4)9-1
AS

{b)  Find (2,'/5_)3 as ah exact value
. b-a

{© ,Sgimplify&—_;

(d)  Find the exact value of 8%/3

(e} Solve3—x<4and sketch the solution on a number line

QUESTION 7 — (7 Marks) {Start a new page}

{a) Draw a neat sketch (with arulerjof  {(x—=1)24(y+2)2=9 and state the
domain and range. )

b} Solve2x—1]>9

(c) Determine whether the function f(x) = x:-% is odd, even or nelther

Marks

Marks




QUESTION 8 — (7 marks) { Start a new page)

{a) Express %in the forma + b

{b) If F(x) = 8 — x7, find the value of

N f@
{y =x iff(x)=35

3b7.
{c) Simplify gs-b-;

QUESTION 9 - {7 marks) (Start a new page]
{a} Factorise fully:

N x®—4x

iy ay—3a+y*—3y

i) 8x3-27

(b}  The diagram shows part of a function ¥ = f(x)

Copy or trace this diagram onto your answer sheet,

Complete the graph of ¥ = f(x) given that it is an odd function.

Marks

Marks

QUESTION 10 — {7 marks)

{a)

QUESTION 11 — {7 marks)

{a)

{Start a news page}

Solve the followlng equations

i) 2x*—-5x+3=0

x4 3x

W Zrez=7

{ii) Jx+1]=5-3x

For the parabola y = x2 -+ 4x + 3, find
(i} the yintercept

(i} thex Intercepts
(i) the coordinates of the vertex. -5

N

(iv} Sketch the parabota showing all important features

(Start a new page) Marks



QUESTION 12 — (7 marks) {Start a new page) Marks

QUESTION 13 — {7 marks) (Start a new page) Marks
{a) A circle, centre the origin, and an exponential function of the form y = a* are shown on the
diagram below. A and B lie on the curves as shown. B has coordinates (1,3) (a) Sketchy=1- x—izon a number plane showlng all important features. Use a ruler. 2
{b}  Factorise (2 + B)% — a — b fully. 2
{0 simphify at+bh! 3
a2—p? g .
A
X
END OF PAPER
Find
(i) the coordinates of A, ~ 1
@ the equation of the circle. : 2
(i}  the equation of the exponential function. , 1

(v}  Give the three inequations which describe the shaded reglon above. - 3
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